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St.1 9:25 0 SSE = 12.0 8.3 14.4  32.64 - - 0.0 0.8 0.1 0.0 0.00 0.00 0. 00

=" 5 1 10 8.3 13.6  33.26 - - 1.3 3.6 0.3 1.5 <1.8 <0. 005 <0.5 0. 00 0. 00 0. 00

10 8.3 12.5  33.48 - - 0.2 0.8 0.1 6.6 0. 00 0. 00 0. 00

B-1 8.3 9.4 33.72 - - 0.6 1.0 0.1 0.1 0. 00 0. 00 0. 00

St.2 9:05 0 SSE = 12.0 8.2 14.6 33.16 - - 0.1 0.9 0.1 0.6 0.00 0.00 0. 00

TR 5 1 10 8.3 13.6  33.27 - - 5.1 14. 8 0.7 2.6 <1.8 <0. 005 <0.5 0. 00 0. 00 0. 00

10 8.3 12.4  33.33 - - 0.0 0.6 0.1 0.0 0. 00 0. 00 0. 00

B-1 8.2 10.6  33.58 - - 0.3 1.4 0.1 0.4 0. 00 0. 00 0. 00

St.3 10:05 0 SSE = 11.0 8.3 15.0  33.06 - - 0.4 0.9 0.1 0.1 0.00 0.00 0. 00

= 2.5 1 10 8.3 14.8  33.08 - - - - - - 0. 00 0. 00 0. 00

5 8.3 14.0  33.23 - - 17.2 44, 2 1.3 1.4 <1.8 <0. 005 <0.5 0. 00 0. 00 0. 00

10 8.3 12.3  33.34 - - 0.0 1.3 0.1 5.5 0. 00 0. 00 0. 00

B-1 8.3 10.3  33.61 - — 0.5 1.1 0.1 0.2 0. 00 0. 00 0. 00

St.4 9:45 0 SSE = 12.0 8.3 14.6  33.17 - - 0.2 1.0 0.1 0.0 0.00 0.00 0. 00

YERR 2.5 1 10 8.3 14.6  33.19 — — — — — - 0. 00 0. 00 0. 00

5 8.3 13.6  33.29 - - 2.1 5.0 0.4 2.1 <1.8 <0. 005 <0.5 0. 00 0. 00 0. 00

10 8.3 12.2  33.37 - - 0.0 1.0 0.1 1.4 0. 00 0. 00 0. 00

B-1 8.3 9.1 33.49 - — 0.4 0.9 0.1 0.2 0. 00 0. 00 0. 00

St.5 11:45 0 - = 6.0 8.4 16.4  32.12 - - 0.0 3.7 0.2 0.8 0. 00 0. 00 0. 00

KA 2.5 0 9 8.4 15.6  32.87 - - - - - - 0. 00 0. 00 0. 00

5 8.4 14.6  33.11 - - 0.1 0.8 0.0 0.0 <1.8 <0. 005 <0.5 0. 00 0. 00 0. 00

B-1 8.4 13.5  33.22 - - 1.2 1.8 0.1 0.3 0. 00 0. 00 0. 00

St.6 10:45 0 SSE = 8.0 8.4 15.2  32.89 - - 0.0 0.9 0.0 0.1 0.00 0.00 0. 00

A R R 1 1 10 8.4 15.3  32.88 - - 0.0 0.8 0.0 0.1 0. 00 0. 00 0. 00

5 8.4 13.7 33.14 - - 0.2 1.7 0.2 0.4 <1.8 <0. 005 <0.5 0. 00 0. 00 0. 00

B-1 - 8.4 12.7  33.25 - — 0.3 0.8 0.0 0.1 0. 00 0. 00 0. 00

St.7 11:35 0 0 = 5.0 8.4 16.3  31.91 - - 0.0 1.0 0.0 0.1 0.00 0. 00 0. 00

famisy 1 9 8.4 16.0  32.08 - - 1.3 2.0 0.3 0.9 0. 00 0. 00 0. 00

B-1 8.3 13.8 33.21 - - 0.7 1.4 0.2 0.5 4.0 <0. 005 <0.5 0. 00 0. 00 0. 00

St.8 10:10 0 SSE = 9.0 8.3 15.4  32.92 - - 0.2 1.3 0.1 0.2 0.00 0.00 0. 00

HEE)IF oY 2.5 1 10 8.3 15.4  32.93 - - - - - - 0. 00 0. 00 0. 00

5 8.3 13.8  33.26 - - 0.6 2.8 0.1 0.4 <1.8 <0. 005 <0.5 0. 00 0. 00 0. 00

10 8.3 12.5  33.33 - - 0.0 0.9 0.1 0.0 0. 00 0. 00 0. 00

B-1 8.3 10.6  33.50 - — 0.0 0.7 0.0 0.1 0. 00 0. 00 0. 00

St.9 10:30 0 SSE = 10.0 8.3 15.3  32.98 - - 0.1 0.7 0.0 0.1 0.00 0.00 0. 00

FEX YA 2.5 1 10 8.3 14.9  33.02 - - - - - - 0. 00 0. 00 0. 00

5 8.3 13.9  33.19 - - 4.6 10. 7 0.8 1.3 <1.8 <0. 005 <0.5 0. 00 0. 00 0. 00

10 8.3 12.3  33.32 - - 0.0 1.3 0.1 0.8 0. 00 0. 00 0. 00

B-1 8.3 10.8  33.68 - - 0.0 1.0 0.1 0.1 0. 00 0. 00 0. 00

Hrar (A) 11:07 0 - = 4.0 8.4 16.3 31.96 - - 0.6 1.5 0.2 0.3 0.00 0.00 0. 00

B-1 0 9 8.4 13.6  33.21 - — 0.0 1.1 0.1 2.3 <1.8 <0. 005 <0.5 0. 00 0. 00 0. 00

Fp K (B) 11:15 0 - 5 6.0 8.4 16.2  32.92 - - 0.2 1.0 0.0 0.1 0.00 0.00 0. 00

5 0 8 8.4 14.0  33.17 - - 1.5 3.3 0.4 1.0 <1.8 <0. 005 <0.5 0. 00 0. 00 0. 00

B-1 8.4 11.7  33.39 - - 1.0 2.4 1.0 15. 4 0. 00 0. 00 0. 00




